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Why Is a Stick of Gum Like a Sneeze?

For each exercise, multiply the two polynomials. Find your answer in the set .2 answers c:nm_. the .mv_aﬁoam.
Cross out the letter above your answer. When you finish, the answer to the title question will remain!
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(4a—7)(Ba—2)
(2a + 5)(2a — 5)
(6a—1)(2a +4)
(a + 2b)(4a + b)
(5a + 3b)(a — 4b)
(3a — 8b)(2a — b)

(x + 3)(x + 5)
(x+2)(x+9)
(x—8)(x+1)
(x — 3)(x — 6)
(2x+9)(x—2)
(Bx + 1)(2x + 4)
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(n + 2)(n*+ 5n — 3)
(3n—1)(2n° + 4n + 4)
(2n + 3)(6n—2n + 1)
(4n —5)(n*—-7n—2)
(3n — 4)(4n” + 2n + 3)
(n +8)(6n°>—n—4)
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